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I xmwn: introduction to %N DWR — brought in any of these cases

a
b
c
d

If: he may have eaten 25n; or if he certainly ate 29n but may have eaten 1yw> (and may not)

Of if- he had 1mw and a%n before him and doesn’t know which he ate

Or if: his wife and sister were in the house with him and he doesn’t know with which one he had nx»a
Or if: he did naxr5n and isn’t sure if he did it on 51 DY or naw

II 12 mwn: parallels between nxron and "%n DWR

a

b

Just as: multiple eatings of 259n during one n%yn only lead to 1 nrvn; with distinguishing my>m — multiple mxvn
i Similarly: multiple 29n-pav incidents only lead to 1 »on nwR; with multiple My — multiple nYn mnwr

Just as: eating various n12 *21’n in one nYYn (e.g. DT ,7°9 ,A7M ,25N) generates multiple MroYN

i Similarly: multiple n13-pav incidents in one nYyn generate multiple nYn MWK

I Dispute 2792 X»n/>0R 1 about extent of pav which generates nYn Dwr

a

b

’oN 7. even if there is only one piece, 1MW pPav ,29N Pav — bring "N DWR for eating it
27 72 7. only if there are two pieces; one 19n and the other 1mw and he ate one
i Dispute: whether nmon? bR v (v. 1 is written m¥n - single) or X1pn% bR v’ (v. 1 is read nn¥n — plural)
ii ~ Arqument: from case (b) which is 2 pieces = case (a) must be 2 pieces
1 Rejection (827[?]): we could answer that case (a) is 1 piece; 1t 1m% 1% PR1 1 (stating the less obvious first)
2 Challenge (to 37 73 87n): why teach two cases (a, b) of 2 pieces?
(a) Answer: (b) is explaining (a)
27. quoted by nTi? 29, 11’7 and 1M 1 - only 2 m>’nn generate n%n WX
i ~2717s reason — RIpnd DR W (per above)
ii  N77 “1 27’s reason — the MR could be clarified/isolated
1 Difference: in case of 1.5 m1a (no "nnxnn”, but possible to isolate MO*R)
iii  pon2 /7. 27's reason — the o) was “established” (yapin)
1 Difference: if there were 2 pieces 1mw+15n and a " ate one; no nnx¥nn (when Y87’ ate); impossible to isolate
(a) But: the o) was yapn (before the M ate it)
iv  Challenge (to 27): " rules that 2 25n generates n%n nwR (this and other challenges — all nnx n2nn)
1 Answer: he has non ny; isn’t concerned with MR M773; doesn’t require MNOR MY*ap
v Challenge (fo 37): if a n"n2’ marries and has a child — WK% "0 12 Pav — they owe NN DWR (MEN DIPNRI ROV NR NWR PAD)
1 Answer: that follows 8™
vi  Challenge (to 37): (nm) if they found o7 after a while on her garment — n%9n Dwr
1  Answer: that also follows 8™
2 Note: in 1"’s case, he didn’t respond; felt he should have defended it as being n” who doesn’t require my»ap
(a) Per: his ruling (contra nan) that yina nYn DwR NVNY generates 21N for NNV
(b) Observation: this teaches that n” agreed with X"’s position
27 quoted by mar 71 11 - if one eats a single piece, 1MW pav ,a%N pav - it is a dispute mnaN/R™ if he is liable for nYn DwR
i Challenge: why require him to eat it; X" allows for ®>n DWR to be brought any time as nam
ii  Answer; per X011 12 R12’s “modification” of 8™ — must wait until there is a reasonable doubt that he violated the law
1 Therefore: R0Y2 12 R11 was stopped from bringing nYn nwk on the day after 2"nv
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